Practice test for New Material – Final

1.
Find the exact value of y, in radians for each equation.  Do not use a calculator

a)
y = arcos (-1/2)



b)
y = sin –1 (–√3/2)

c)
y = tan –1 0




d)
y = arcsec (-2)

2.
Find the exact value of θ, in degrees for each equation.  Do not use a calculator

a)
θ = arcos (√3/2)



b)
θ = tan–1 (–1)

c)
θ = cot–1 (–1)




d)
θ = csc–1 (–2√3/3)

3.
Use a calculator to give each value in decimal degrees to the nearest hundredth.

a)
θ = sin–1 (0.67610476)


b)
θ = arcsec (1.0840880)

4.
Find the measure of the angle in degrees using your calculator and then, showing 


the work here, convert to degrees and minutes, rounding to the nearest minute.






θ  =  cot–1 (-0.7125586)

5.
Find the exact value without using your calculator.

a)
cos (arcsin 2/3)



b)
sin (2 cos–1 1/3)

6.
Why is there no answer for sin–1 3?

7.
Solve each of the following over the interval  [0, 360°).  Express each to the 


nearest tenth of a degree.

a)
–3 sec θ + 2√3  =  0



b)
√2 cos 3x  –  1  =  0

c)
sin2 θ  =  –cos 2θ



d)
sin2 θ  +  3 sin θ  +  2  =  0

e)
2 sin 2θ = 1

8.
Find the magnitude and direction angle for the vector shown.


9.
For the vectors u = < –1 , 3 >  and  v  =  < 2 , –6 > find the following

a)
u  +  v

b)
–3v

c)
u • v

d)
| u |

10.
Find the magnitude and direction angle of the following and round it to the 


nearest 10th.


u = –9i  +  12j
11.
Find the vector of magnitude 1 having the same direction angle as the given 


vector.


u  =  5i  +  12j
12.
A hill makes an angle of 14.3° with the horizontal.  From the base of the hill, the 


angle of elevation to the top of a tree on top of the hill is 27.2°.  The distance 


along the hill from the base to the tree is 212 ft.  Find the height of the tree.

13.
Two boats leave a dock together.  Each travels in a straight line. The angle 


between their courses is 54° 10′.  One boat travels 36.2 km per hour and the other 


45.6 km  per hour.  How far apart will they be after 3 hours?

14.
Fill in the table for the graph.  Answer the questions listed.  Graph the 


fundamental cycle of the function (that’s the one we discussed over and over in class). 
The graph needs to have axes clearly labeled and scaled.  Points need to be 


plotted and labeled to show as close to the real shape as possible.





f(x) =  1  –  3 cos 1/2(x  –  π)
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